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Mit Zehnerpotenzen multiplizieren (fehlende Zahl)

Name:

4,359 x

9,309 x

6, 474 x

9, 872 X

5,219 x

7,896 x

9,389 x

9,26 x

7,775 %

6, 205 x

=435.9

=93.09

— 6474

= 9872

=52.19

= 7896

= 9389

=92.6

=T77.5

= 620.5

9,941 %

3, 168 x

6,578 %

6, 06 x

Datum:

1,146 x

1,491 x

5,021 %

3,211 %

5,55 %

8,784 x
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=994.1

=31.68

= 065.78

= 606

=114.6

= 1491

= 5021

=321.1

=55.5

= 8784

Ergebnis:
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@ E d Eg i ‘%‘ J Mit Zehnerpotenzen multiplizieren (fehlende Zahl)

Name: Datum: Ergebnis:
4,359 x 100 = 435.9 9,941 x 100 = 994.1
9,309 x 10 =93.09 3,168 x 10 =31.68
6,474 x 1000 = 6474 6,578 x 10 =65.78
9,872 x 1000 = 9872 6,06 x 100 = 606
5,219 x 10 =352.19 1,146 x 100 = 114.6
7,896 x 1000 = 7896 1,491 x 1000 = 1491
9, 389 x 1000 = 9389 5,021 x 1000 = 5021
9,26 x 10 =92.6 3,211 x 100 = 321.1
7,75 x10="T77.5 5,55 x10=155.5
6,205 x 100 = 620.5 8,784 x 1000 = 8784
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